Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

A (08 Marks)
b. Explain workmg, advamages and disadvantages of Reqlprooatmg pump (Displacement
pump) with neat sketch - | (08 Marks)

Ny OR ;
2 a. A pump delivers 1820 ltr ofwat«;r per minute aga‘r
i) The H.P of pump ‘
ii) The H.P of input to motor” ,
iii) Cost of running of pump for day /
Given: efficiency motor is 60% and e.ectrlcal energy is 10 paise per kW hours. (1 HP hour =
0.75 kwh) (08 Marks)
b. Calculate the Dimensions of a Turbme pump -and of suction and delivery branches suitable
for raising 1.8 kilolitres of water pel mmuce agamvt a total head of 250 meters. (08 Marks)

a total head of 300m. Calculate :

“‘Module-2

3 a. Explain the applicability, advamages and disadvantage: Qf.Double Ranging shearer.
,, (08 Marks)
b. Sketch a neat dlagram or D uble Ranging sheerer and la")el B (08 Marks)

OR (Co
4 a. Explain the appli ‘ﬁbliﬁy, advantages and disadvantages of contmuoua miner. (08 Marks)
b. 1) What is th rKing principle of coal plough? Pt (02 Marks)
i) Discuss t\he‘ : dvantages and disadvantages of coal plough. ey (06 Marks)
Module-3

5 a i) Wﬁé isa canopy? (Qg Marks)
i I:xplam various types of canopies. (06 Marks)
b. Class'fy various types of chock shield supports and explain them with neat sketch (08 Marks)

OR
6 a. Explain working principle, advantages and disadvantages of LHD. (08 Marks)
b. Explain working, applicability, advantages and disadvantages of Rocker shovel with a neat
sketch. (08 Marks)
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Module-4

Explain maintenance managemem in’mines.
Explain the safety features of mining, maghgnér' 8.

20f2

iJ*Module-s S\

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(02 Marks)
(06 Marks)




